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The figures in tle margin indicate fult marks for the qtestions

A. Put a Tick (/) mark against tlte correct answer in the
brackets provided : yzxts=7yz

1. An example of rnajor ozone depleting substance
ls

(a) No2 ( )

(b) cH+ ( )

@) eFc ( )

(d) soz ( )

2. The last stage of succession is known as

fa,l reaction ( )

fb,l invasion ( )

fc., stabilization ( )

(d,l nudation ( )
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l2l

A decibel is the standard for measurement of

fa,l pressure ( )

(b) noise ( )

/cJ tcmperature (

/d) None of the above

What type of disaster is
India?

(q.) Flood, ( )

fb) Earthquake (

(c,) Cyclone ( )

/d) Landslide ( )

Ecolory is the study of

(c,) surroundings (

h) water ( )

(cJ earth ( )

/Jl hrrman lifc I )

)

most prominent

6. The major cause of deforestation is

fai shifting cultivation ( )

fb,) fue I re quirements ( )

fcJ raw material for industnes

(d) All ot the above ( )
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7. Ecosystem was coined by

fal Ernst Haeckcl ( )

fbl A. c. Tansley ( )

fc, Eugene Odum ( )

fdl Charles Elton ( )

8. Blue baby syndrome (methemoglobinemia) is
caused by the contamination of water due to

fal phosphates ( )

fbl nitrates ( )

fcl sulphur ( )

1rd,l arsenic ( )

The Environment Protection Act was Dassed in
India in the year

cl

(a) 1974

(b) r98r

(c) 1986

(d) 1e9s
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l4l

Overgrazing results in

/a.f productive soils

[b/ soil erosion ( )

/c,) retention of useful species

(Q Nl of the above

1 1. The World Population
yeai on

. ra, 11th of July

@/ 16th of July

' (c) 22nd of Apil

/di 16th of April

()

Day is observed

I

t

)

12. The transfer of food enerry from plants through
organisms is known as

1c,) food web

(b) food chain

/c) productivity

{di ecological succession
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13. Disaster managemcnt includes

(a/ mitigation

(b/ reconstruction

/cJ rehabilitation

(d) All of the above

14. Population explosion

(a) hig}: birthrate

(b) hlgh death rate

(c.) low birthrate

(d) Llig}l birthrate
rate ( )

occura due to

()

(")

(

(

()

and low death

15. An event that has the potential to cause harm is
called

fa,i dsk ( )

(b) d,anger ( )

(c) hazard ( )

/di vulnerability ( )
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2. What is sustainablc dcvelopmeEt? '

l8f

3, Define water rpolhrtibn, .
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4. Diline vulnerability.

I r*qr I

gtilr.

Mention t*'o
growth.
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Define disast€rf mitigation.

[.v

laqf ,.,rr; ,,



- ,.r \J@4^
3 XN

14

7
8z
t5
1
>(-

E p P :'A
a iy nF 2* I t E" Fe fg Ffi g F ^ FsF;i;E E *r

6 itH Ei; riI*ig $'lfr Fl? c ::$isagxE
H ; *a $ 3 F3- s 1 &;

H :' O tr .. :Ede9:oE(,'>id
o59'6
O\)aor
-'

6€
AF
it5

aE. N

{

FeP:r9s'r

E FEF EF gf lE Agq -g: ;; ;I gs Ei? la iE ii a* gt
I '- Bi ai E oi 8B Ai EE Hg 6

3 EE es E6 €€ g

3 i; [[ ri 1; 
E€ Eg ns I g

E? E i s igA '- A ' HsE f E e" a

I

o

5
.il

=

:a


